Assembly Inswructions For The Poly Adirondack Chair

Tools Needed For Assembly Parts List Hardware

7/16” Wrench Seat Assembly (1) 1/4” x 2-3/4” Carriage Bolts (4)
7/16” Socket Back Assembly (1) 1/4” x 2-1/2” Lag Bolts (2)
Screwgun Right Arm & Leg Assembly (1) 1/4” Washers (2)

Left Arm & Leg Assembly (1)  1/4” Flange Nuts (4)
2-1/2" Screws (2)

Step 1 Lay out and identify all the parts and pieces.

Step 2 Fasten the arm and leg assemblies to the seat assembly by lining up the holes in the
legs with the holes on the side of the seat assembly. Insert the 2-3/4" bolts into the
holes and put on the 1/4” flange nuts. Tighten with the 7/16” wrench.

" Step 3 Now take the back assembly and place it between the arms letting the bottom back
support strip rest on the seat assembly. Line up the predrilled hole in the back of the

arm with the small pilot hole on the end of the middle back support strip. Put a 1/4”

washer on a 2-1/2" lag bolt and turn into the hole with the 7/16” socket. (Do not

over tighten). You might need to loosen the nuis on the leg assemblies to fit the
backin between the arms.

Step 4 Now push the bottom of the back assembly up against the seat slats. Take the 2-1/2"
screws and insert them into the predrilled holes on the bottom back support strip.
Using the screwgun turn them into the seat assembly. Screws are self drilling.




